1.

A thermostat
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A thermostat £001ai0s a strip or coil of steel and a strip or coil of copper, one on top of the other.

As the strip/ coil ..............., themetals ..............., but one does it faster than the other. The strip
fooil ................and ...............with & switch, which ............... the power supply. When the stnp
fooil ..............., the metals ............... and the switch is ..... .. The thermostat is .

using a dial or other control.

A disc player
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A disc player (for example, in a computer) has several component parts. A disc is . . . into
the player and beginsto ...... . At the same time, a thin beam of light called a Iaser

the disc and ............... digital 5|gnals into sounds or images, which can be . thmugh
speakers or ............... on a screen. Volume or brightness can be ............... or ... . by
means of a button, knob or other control. Nowadays, discs are largely being ..... by stnrage

devices like memaory sticks, which have no moving parts.

An aerosol
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In an aerosol, liquid and gas are ............... in a metal and / or hard plastic tube. This can be
.. from the tube by ............... a button, which ............... a valve. When the liquid-gas
combination ............... the tube and ............... with oxygen, it rapidly .......c.........



